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= 413,140
= 153,293
s 468,914
2 Rgs 2t 56,834 55,667 1,167
101 @124l 12,868 11,701 1,167
04 JIZtHZ22HEE = 12,868 11,701 1,167
OZNERE 320 Mg o2 12,868
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201 £B-2dH| 43,966 43,966 0
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1,930 = 60021 * 23| 2,316
202 04| 2,160 0 2,160
01 2L I 2,160 0 2,160
OJI&H3g 92 =& (| 2,160,000& 2,160
207 A3 IH | 100,000 0 100,000
01 A& Y| 100,000 0 100,000
OJISHa MU NREASHE 228
100,000,000 100,000
301 et A= 2,000 0 2,000
11 JIEtE A= 2,000 0 2,000
OJIZzHg sFd s 2 AH 100,000& * 203] 2,000
303 ZA2 2,000 1,000 1,000
01 Za32 2,000 1,000 1,000
OsMIUS 20 = BA AlY 2,000
-XRE(MYEEN HAILEA)
500,0008 » 22 A 1,000
-2 (AL EA HIAYEEA)
300,0008 » 22 A 600
& H (A2 A HIAYEEA)
200,0008 » 22 A 400
=AHUEH ESAFY 25,826 30,800 N4 ,974
= 18,440
o 3,693
= 3,693
402 SI2FXHE0| M 25,826 30,800 N4 ,974
= 18,440
o= 3,693
= 3,693
02 QIZEXIEANISEX (0| XM THL) 25,826 30,800 N4 ,974
OS2 Uoletd A 25,826,000 25,826
= 18,440
= 3,693
= 3,693
EEAZOIERN Il CHEE X2 26,000 34,600 A 8,600
= 13,000
= 13,000
301 et A= 26,000 34,600 A 8,600
= 13,000
= 13,000
11 JIEtE A2 26,000 34,600 A 8,600
OEAIZQIEN QHMEE 26,000,000 26,000
= 13,000
= 13,000
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AT - KICH 10,000 6,000 4,000
< 2,000
s 8,000
301 gt d= 10,000 6,000 4,000
< 2,000
s 8,000
01 Ml2ZHE 6= 10,000 6,000 4,000
O&dIlo 2H 2WH23 10,000, 000& 10,000
< 2,000
= 8,000
HIMHR2AHE 240tA JHALE X2 8,000 10,000 A2,000
= 4,000
e 4,000
307 glz2+0l & 8,000 10,000 A2,000
= 4,000
i 4,000
02 HAHFHAANGEEE 8,000 10,000 A 2,000
OHIMAE2AMEE 2aItA JHALE &
8,000,000& 8,000
= 4,000
e 4,000
MESATAAY 100,000 0 100,000
= 50,000
< 15,000
e 35,000
401 A& HIZ 2018 100,000 0 100,000
= 50,000
< 15,000
s 35,000
01 A& HI 100,000 0 100,000
O2E M=K M3 ALY
100,000, 000& 100,000
= 50,000
< 15,000
e 35,000
NASAEEAS 8,200 6,900 1,300
301 et d = 1,300 0 1,300
NJIEEd=s 1,300 0 1,300
Ostd2d RIA & Xl Al 1,300
-Jfel 100,000& * 10 1,000
—CHAl 100,000& * 30 4 300
303 &3 500 0 500
01 243 500 0 500
Otd2d R232& A& 50,0008 = 10 500
307 21201 A 6,400 6,400 0
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02 QIZtE M AHEE 6,400 6,400 0
OXHESZEN ALY 6,400,000 6,400
HIIXS X 70 K& 300,000 44,000 256,000
= 180,000
< 60,000
[ia 60,000
402 RIZ2HXt20l M 300,000 44,000 256,000
= 180,000
< 60,000
= 60,000
02 2IZt 2 AL EZ (OIS ) 300,000 44,000 256,000
O&IIXt= X 70 XI& 300,000, 000& 300,000
= 180,000
= 60,000
fia 60,000
AR HEIA MM (ZIIHXXE)-BX 80,400 48,240 32,160
= 40,200
< 20,100
s 20,100
301 gt L= 80,400 48,000 32,400
= 40,200
< 20,100
fia 20,100
NJIEEd=s 80,400 48,000 32,400
OR¥LARA HWEIA HZALL (ZIIHX X )
80,400,000& 80,400
= 40,200
< 20,100
s 20,100
HII0IEX ES ALY 5,000 5,000 0
= 2,500
s 2,500
402 QI2H X201 M 5,000 5,000 0
= 2,500
s 2,500
02 QI 2 AL EZ (01X TH ) 5,000 5,000 0
OHEIIOIEXN ESALZ 5,000,000& 5,000
= 2,500
s 2,500
NXA UIEsdEa & 195,000 0 195,000
= 97,500
< 48,750
i 48,750
401 Al HIZ 2018 195,000 0 195,000
= 97,500
< 48,750
e 48,750
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= 3,750
Ot S AlIZE MEIH 25 269,360 208,896 60,464
= 16,000
== 32,100
= 221,260
OfMsAIZ BES 269,360 ,896 60,464
= 16,000
= 32,100
= 221,260
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201 2oty 2,900 ,000 900
01 At & 2,900 ,000 900
O0MM=EESs E8S 2,000
-8 50,000& * 200H 1,000
- 1,000
OotMM=2 900
202 044l 2,160 ,160 0
01 2L Y| 2,160 2,160 0
OOfMME HREX | 2,160,000 2,160
301 et A= 15,600 10,600 5,000
09 HAIAHI B A Z 600 600 0
OUBE= U SUHT SHBAL 21201 24
Hl 3,000& * 200 600
11 JIEtE A= 15,000 10,000 5,000
O0tMsS=2 Lygse AOX ZA
1,000,000& = 5A 5,000
O0tMESEZ oldIoh 24 5,000,000& 5,000
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NJIEEd=s 60,000 34,966 25,034
OOt sSZ20l 28 ma2aa 60,000,000& 60,000
= 9,000
[ia 51,000
OFM =2 Do X X 75,000 46,670 28,330
< 13,500
[ia 61,500
301 et a3z 75,000 46,670 28,330
< 13,500
e 61,500
MIIEE4d3 75,000 46,670 28,330
O0ME= mol&XE XA 75,000,000 75,000
< 13,500
s 61,500
Ois=E 25 & 28 ZHd FUAHZ MY 6,700 5,000 1,700
307 21201 A 6,700 5,000 1,700
02 It M AIHE L 6,700 5,000 1,700
OftdssE 25 & 28 2HH FUHZAE
6,700,000 6,700
Bz 2t 284,200 13,200 271,000
HEAIE 22 284,200 13,200 271,000
HEAIE Jlgt2 = 284,200 13,200 271,000
201 L2l 3,000 3,000 0
01 At 22l 8l 3,000 3,000 0
OlBAE 28 S22 M (Y4 HBAE =
2) 500,000& * 43 2,000
OHIEAIE 82012 JI=ZE 22l
1,000, 000& 1,000
202 o4dl 11,200 10,200 1,000
01 = LH o4 1l 11,200 10,200 1,000
OtisAl&g2el d2F8 ol 11,200, 000& 11,200
207 A RO HI 270,000 0 270,000
01 A3l 270,000 0 270,000
SH2 NEMS NESTY NFCH M4 8
=2 270,000, 000& 270,000
tileg 22 56,890 62,170 A5,280
thorerd 2 56,890 62,170 A5,280
g3y & ¢ 56,890 62,170 A5,280
201 Let24E] 13,150 13,450 A 300
01 At 22l 11,650 11,950 A 300
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OgZE=2Z2 =ZFH =3 AM
150,000& * 3CH 450
O2Z = A Or2ESs & SZ2EALD =4
i 2,000,000& 2,000
OXEHs SR II=H| 100,000& * 6% 600
OEUQATAN 28 242
800,000& = 23| 1,600
OBZY BE U 222 KN
500,000 * 2& = 23] 2,000
OIEZZAM U === 200,000& = 25 5,000
02 3323l 1,500 1,500 0
Oostd2g =3 & H |Xdl 100,000 * 5CH 500
Ol HIOLLI A =AY 1,000,000 1,000
202 04l 15,000 14,680 320
01 = LHA YI 15,000 14,680 320
OdXNE ERFA ol 15,000, 000& 15,000
206 M= Hl 7,540 7,540 0
01 =8l 7,540 7,540 0
OANZEA THFEY 2 2,080
-PEE DI (4L, H =) 110,000& * 42 A 440
-PEE DI (2L,5t& %) 100,000& * 3&8tA 300
-ZAESE (1L, H=) 90,0003 » 10 A 900
- |E(ILEY) 100,000& * 29+ A 200
-2 XY (100ML, R F) 240,000 » 1A 240
OSZHEE ZZFFH Mz 7¢ 2,400
-0 2 A8=E MEHl 200,0008 * 38 600
“AHANZ THFH M 300,000& » 6¥+A 1,800
OFELIET A 2A0ISHES 1,060
-4+ H QAT 2 AHCOD) pack test
110,000 * 6t A 660
—PHIH Ol IH 20,000& = 2004 400
OYMEY 222 2 2,000,000& 2,000
301 L2 A F 3,000 3,000 0
11IIEtEA S 3,000 3,000 0
OstZg AMIX 24 30,000& = 1009 3,000
401 Al Bl 28I 3,000 3,000 0
03 Al =20 HI 3,000 3,000 0
O=Z2g A1 LHES FHYXHZE
1,000,000& =* 32l 3,000
405 THebH S| 15,200 500 14,700
01 AL 2 S FH S| 15,200 500 14,700
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Oy =FHHY L (LFHAMEHHADI)
3,100,000& =« 1CH 3,100
Ozaeyd =x3FH 7L (phEEDI)
2,300,000& = 2CH 4,600
O SJIH RY(LBOFSEID)
6,500,000& = 1CH 6,500
OZdey EFAH E2 MR 2
1,000,000& * 1CH 1,000
HOI= 22l 9,773,832 9,676,737 97,095
2 243,400
< 94,520
[ia 9,435,912
MEMg Il 2 HIlE XNE 22 9,773,832 9,676,737 97,095
= 243,400
< 94,520
s 9,435,912
MEHIIE 2 & 332,937 289,462 43,475
101 @124l 17,157 15,602 1,555
04 JIZHHZ2Z2XNSE+ 17,157 15,602 1,555
OZSHNSEHRE AR 17,157
-= 0 64,400 * 1€ * 240 15,456
-ALRIEE JI2RES 15,456,000& * 11% 1,701
201 ¢er24| 37,400 37,400 0
01 At 22l 37,400 37,400 0
OUEHIIE AEIH HZA 1,200& = 30,0000H 36,000
OMEHII=E 2cltis s2= 1,000,000 1,000
OMEESE =1 22 1=l
100,000 * 4%H 400
206 M= Hl 278,380 236,460 41,920
1T M=l 278,380 236,460 41,920
oXedl RrASE M 262,380
-3 2 243 * 650,0000H 15,600
50 & 29& * 550,0000H 15,950
-10¢ 8 36& * 510,0000H 18,360
204 2 56& * 900,0000H 50,400
500 8 121& = 400,0000H 48,400
-1004 & 2183 * 400,0000H 87,200
=2 121& = 70,0000H 8,470
-PPZ Ui (504 &) 450 * 40,0000H 18,000
OsAZRII 78 7
80,000&  2000H & 16,000
EYEI A& 2el 74,800 73,180 1,620
201 Let24d] 48,800 47,500 1,300
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01 AP 22| H| 23,500 22,500 1,000
OMYID S8EII2X ¢ 22l ' 15,000
=t 50,000& * 200 = 53| 5,000
-E8E 10,000,000 10,000
OYXIHIIE Hel 100,000& * 50 5,000
OXNE&EYE 222 I/=4| 100,000 = 5Y 500
OHJIZ 2248 ZA 200,000& = 103 2,000
OHJIZ2 RHEI| S 0ot 24|
1,000,000 1,000
02 2% 4| 25,300 25,000 300
OMY I SHEI| SHSEYI(CCTV) QIEHAAIE
= 100,000& = 50 ~ 12& 6,000
OMYD EHED SEZH|I(CCTV) IS
5,0008 = 4500 = 12& 2,700
OMYJl S8ED| S43d Al 10,000
—24A12F AL EZHY S ZH|(CCTV) Ol & d|
1,500,000 = 504 7,500
~ADFEZ DE(CCTV) 01 &b
250,000 = 504 1,250
-0|& AX &I ANAEEYZ2
250,000 = 504 1,250
OMYD 2 YEED| S@EHH RS2
6,600,000& 6,600
202 044l 16,000 15,680 320
01 2L I 16,000 15,680 320
OFAMAH HR2=X (Y| 16,000,000& 16,000
301 et A= 5,000 5,000 0
11 J|EtE A= 5,000 5,000 0
OSYEED AlDIZAZ 3,000,000& 3,000
O22 4170 X AHH ats =2 2,000,000& 2,000
401 Al HI L £ 0HHI 5,000 5,000 0
03 Al 20| 5,000 5,000 0
OSEHMYIIY SHEHEH SX=
500,000& = 103l 5,000
MesE st 39,144 36, 164 2,980
201 LBt | 13,144 13,144 0
01 AP 22| d| 13,000 13,000 0
OMEESE 821U M= 13,000,000& 13,000
02 2224 4| 144 144 0
O2clotA d8IIe3
66,0008 * 2)HA = 12€ 144
206 M = dl 10,000 10,000 0
01 X2 4| 10,000 10,000 0
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M HOls 22l
S MEMY I L HIIZS KNE 22 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OHE&ZS Ecl+=HE 400,000 = 2504 10,000
301 AP B A 16,000 13,020 2,980
11 IIEtE A2 16,000 13,020 2,980
OMeEsE =8&d=2 16,000,000& 16,000
HAUBAY 2 5,520,000 5,526,627 16,627
207 Ao Y| 20,000 20,000 0
01 A2 E 49| 20,000 20,000 0
OMEMHIE =SS XN e AN T
t 20,000,000& 20,000
307 212t0| & 5,500,000 5,506,627 NB,627
05 oI2t2 et 32 5,500,000 5,506,627 NG,627
OFAUHENEZ2 5,500,000, 000& 5,500,000
MEHIIZS MHelAldg 22 3,177,151 3,169,004 8,147
101 @121l 17,157 15,602 1,555
04 JI2ZtH2E2XNEE S 17,157 15,602 1,555
OL-HAEA 082 17,157
=0 64,400 * 198 » 240 15,456
MBS D& 22 15,456,000& * 11% 1,701
201 et A bl 48,154 41,562 6,592
01 AFR 2t 2l Yl 32,154 25,562 6,592
Ol M HE&ER AIE22 13,895
-Xat== =& A A 137,800 * 6 A * 43] 3,308
-EES SEAM 337,000) * 204 * 48] 2,696
—EAQAT AAHYE 2 9 &=2)
986,260 * 8IHA * 13 7,891
OF HEE At=2t2] 8,948
-Xot =& A A 137,800 * 3 A x 43] 1,654
-AES =AM 337,000& * 1A * 43] 1,348
-0 & O A 2 A 500,000& * 4HA = 13 2,000
—EAQAT AAH(YE 2 9 &=2)
986,260 * 4)HA * 13 3,946
O & oI 2 =& ZA 4,311
-Xot =& A A 137,800& * 14 x 23] 276
- &4 S=EAA 337,0008 * 1HA + 103 3,370
-NE> =Z2AHA 332,200 * 10HA = 23] 665
OHJIEME 28 2% |l 5,000,000& 5,000
02 33249l 16,000 16,000 0
OFMEE RANE= 228l 10,000, 000& 10,000
OFMEH MIRB 500,000& = 12& 6,000
202 04| 6,840 6,840 0
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01 = LH 4 bl 6,840 6,840 0
Oa(R)HSBHE g2 =0 6,840,000 6,840
206 M= Hl 5,000 5,000 0
01 M2 4l 5,000 5,000 0
OFMEE &K 22t M=Hl 5,000,000 5,000
308 MXIEHSOIH 3,100,000 3,100,000 0
07 IXNHHAR S = 3,100,000 3,100,000 0
O4l HE & 294l 3,100,000, 000& 3,100,000
SEHHE =HBA(AMEE) 143,000 143,000 0
= 13,000
< 26,000
e 104,000
301 et d = 143,000 143,000 0
= 13,000
= 26,000
s 104,000
NMIIEEd= 143,000 143,000 0
OsZHHE =AHA243 AdEE
143,000, 000& 143,000
= 13,000
< 26,000
[ 104,000
SdI0IE MelX& 436,800 436,800 0
= 218,400
= 65,520
e 152,880
402 RI2FA=20| A 436,800 436,800 0
= 218,400
< 65,520
= 152,880
02 U2 EALEZ(0IETHR) 436,800 436,800 0
O£dIOIE ™MelXl& A 436,800,000& 436,800
= 218,400
< 65,520
s 152,880
SAPH =g XX AY 10,000 2,500 7,500
< 3,000
s 7,000
206 = Hl 10,000 2,500 7,500
< 3,000
[ia 7,000
01 MHZ 4l 10,000 2,500 7,500
Os% 8l =H& 10,000, 000& 10,000
= 3,000
= 7,000
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